na= ULX_, t_1:= (1/2) (G[x+t]-G[x-11)

In[2]:= G[Z_] =
Piecew se[{{l, z< -2}, {-z-1, -2<z<-1}, {0, -1<z<1}, {z-1, 1<z<2}, {1, z>2}}]

1 z2<-2
-1-z -2<z<-1
0 -l<z<1
-1l+z 1<z<2
1 z>2

0 True
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n3l:= Pl ot [G[Z], {z, -3, 3}]
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n4:= Plot [u[x, -41, {X, 0, 10}]
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2 | gwave.nb

nis;= Plot [u[x, -3], {X, 0, 10}]
| | |
2 4 10
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Out[5]=
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nel:= Plot [u[x, -2], {X, 0, 10}]
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ni7:= Plot [u[x, -1.5], {x, 0, 10}]
| L | |
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gwave.nb |3

ngl:= Plot [u[x, -1], {X, 0, 10}]
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nel= Plot [u[x, -0.5], {x, 0, 10}]
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np1op:= Plot [u[x, -0.2], {x, 0, 10}]
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4 | gwave.nb

n[11]:= Pl ot

10

05

[urx, 01, {x, 0, 10}]

out[11]=
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n[12]:= Pl ot

[u[x, 0.2], {x, 0, 10}]

n[13:= Pl ot
0.14
0.12
0.10
0.08
Out[13]=
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[u[x, 0.5], {x, 0, 10}]
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[urx, 11, {x, 0, 10}]
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6 | gwave.nb

n171:= Plot [u[x, 3], {X, 0, 10}]

Out[17]=

niie= Plot [u[x, 4], {X, 0, 10}]
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